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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330727628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330727629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : S Question Id : 5330727631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 5330727626 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330727628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330727629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330727631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072303
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330727632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 5330727632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330727634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330727634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330727635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 5330727635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 5330727636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330727636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330727637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330727637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/123
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frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/123
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330727640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330727640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 5330727641 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/123
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330727641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330727642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/123
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 5330727642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330727643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 5330727643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330727644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330727644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 5330727645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330727645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330727646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330727646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330727647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330727647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330727649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330727649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330727651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3
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4.4

Question Number : 25 Question Id : 5330727651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330727652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330727652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 5330727653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330727653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330727654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330727654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 5330727655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330727655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330727657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330727657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 5330727658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330727658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330727659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 5330727659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 5330727660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330727660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et o & i gfoaat Faa FeEr R (sm=eyR) i €2

(A) ®FH
(B) X
(C) w2 99
(D) WSt
E) wHrR

9 fou o fashedi H | W& I FH FFH FIfAC
(1) =€ (A), (B), (D) 3R (E)
(2) = (D) SR (E)
(3) = (A), (B) R (O)
(4) = (B), (D) 3R (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 35 Question Id : 5330727661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 5330727662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330727662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330727663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330727663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 31/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 38 Question Id : 5330727664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330727664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330727665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330727665 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330727667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330727667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 5330727668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 5330727668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727669 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330727670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330727670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072304
Question Shuffling Allowed : No

Question Id : 5330727672 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330727673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330727674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330727676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 5330727677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727672 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 5330727673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330727674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330727676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : S0 Question Id : 5330727677 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 41/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Correct Marks : 2 Wrong Marks : 0

Frefetfia & T oM T TS ¥ wedl § el T 37

(1) Afg a9 e % =R 7 gaia "eH s € 9 98 &0 afa ad €

(2) wfaer s Ty 990 WA F fon Sfaa 9 Sceayds aiF | =eTE A€ e =fen, afes g
At Yerafeerd aF 8§ SeHaqul WATH A =1fey |

(3) TH S WY FA ¥, SHRT IRET JUTeH U Yode YUTE Ul ©

(4) FE-Fe WA H Gicaar e sif qgeTet

Options :

1.1

2.2

3.3

4.4

German

Section Id : 533072103
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072305
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5330727678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiihlen Sie eine passende Konjuktion fiir den folgenden Satz aus.

,,Der Mann hort bei seiner Arbeit oft Musik,  istilun niemand bose.”
1. darum
2. dennoch
3. deswegen
4, deshalb
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 5330727678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wiihlen Sie eine passende Konjuktion fiir den folgenden Satz aus.

., Der Mann hort bei seiner Arbeit oft Musik,  istilim nmiemand bose.”
1 darum

2. dennoch

3. deswegen

4, deshalb
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Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330727679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Relativerg inzungen ist falsch ?
- Wer ist die Frau,

1. die immer so nett lacht?
2. die du eben begrii3t hast?
3. die du ein Buch geschenkt hast.
4. die gestern angerufen hat?
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330727679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Relativerg inzungen ist falsch ?

- Wer ist die Frau,
1. die immer so nett lacht?
2. die du eben begrii3t hast?
3. die du ein Buch geschenkt hast.
4. die gestern angerufen hat?
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330727680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welches Verb verwendet man nicht mit Priaposition ,, aus™ ?
1 bestehen
2. resultieren
3. abhalten
4 entnehmen
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330727680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welches Verb verwendet man nicht mit Praposition ,, aus™ ?

1 bestehen
&, resultieren
;1 abhalten
4, entnehmen
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330727681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dialektik der Aufklirung ist ein bedeutendes Werk von:

1 Herder
2 Kant
3 Lessing
4, Adormmo
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330727681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dialektik der Aufklarung ist ein bedeutendes Werk von:

1 Herder
.3 Kant
3 Lessing
4 Adorno
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330727682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Satzglieder in richtige Reihenfolge ein.

A Er hat

B. den Brief

€ heimlich

D. ihr

E: in den Briefkasten geworfen.

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 B,AD,CE

2 AC D B.E
3. ABD,CE
4. ADBCE

Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 5330727682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Satzglieder in richtige Reihenfolge ein.

A Er hat

B. den Brief

€ heimlich

D. ihr

E: in den Briefkasten geworfen.

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 B,AD,CE

2 A C, D, BE
3. ABD,CE
4. ADBCE

Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 5330727683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

45/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Ordnen Sie die folgenden Werke nach ihrem Erscheinungsdatum in chronologische
Reihenfolge ein.

A Der Tod in Venedig

B Miss Sara Sampson

e Buch der Lieder

D. Heinrich von Ofterdingen

Von den folgenden Optionen wihlen Sie die richtige aus.

1 B,D,C, A

2. B.AGCD

3. A B D,C
4. D, A B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330727683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Werke nach ihrem Erscheinungsdatum in chronologische

Reihenfolge ein.

A Der Tod in Venedig

B Miss Sara Sampson

e Buch der Lieder

D. Heinrich von Ofterdingen

Von den folgenden Optionen wihlen Sie die richtige aus.

1 B,D,C, A

2. B.ACD

3. A B D,C
4. D, A B,C
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden deutschsprachigen Literatur-Nobelpreistriger nach der Verleihung
des Preises in chronologische Reihenfolge ein.
A Elias Canetti
B. Thomas Mann
€. Gerhart Hauptmann
D. Giinter Grass
Von den folgenden Optionen wihlen Sie die richtige aus.
4 A B D,C
2. D,B,C, A
3. B,C,D, A
4. C B AD
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Ordnen Sie die folgenden deutschsprachigen Literatur-Nobelpreistriger nach der Verleihung
des Preises in chronologische Reihenfolge ein.
A Elias Canetti
B. Thomas Mann
€. Gerhart Hauptmann
D. Giinter Grass
Von den folgenden Optionen wihlen Sie die richtige aus.
4 A B D,C
2. D,B,C, A
3. B,C,D, A
4. C B AD
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330727685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Werke in eine nach ihrem Erscheinungsdatum in chronologische
Reihenfolge ein.

A Heldenplatz

B. Drauf8en vor der Tiir

5 Ich und Kaminski

D. Ansichten eines Clowns

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 B,D,AC

2. B,AD,C

3, A,C,B,D
4. C,B,D, A

Options :

1.1

2.2

3.3

4.4

Question Number : S8 Question Id : 5330727685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Ordnen Sie die folgenden Werke in eine nach ihrem Erscheinungsdatum in chronologische
Reihenfolge ein.
A Heldenplatz
B. Drauf8en vor der Tiir
5 Ich und Kaminski
D. Ansichten eines Clowns
Von den folgenden Optionen wihlen Sie die richtige aus.
18 B,D, A C
2, B,A D, C
B, A,CB,D
4. C B D, A
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330727686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrangieren Sie die Stidte nach der Richtung vom Norden nach Siiden.
A Bremen

B. Dresden

. Potsdam

D. Miinchen

Von den folgenden Optionen wihlen Sie die richtige aus.

1 A B CD
2 C,B, D, A
3: A, C B, D
4. C,ABD

Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 5330727686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrangieren Sie die Stidte nach der Richtung vom Norden nach Siiden.

Al Bremen

B. Dresden

. Potsdam

D. Miinchen

Von den folgenden Optionen wihlen Sie die richtige aus.

1. A BC,D
2; CB.D,A
3 A CBD
4. C, ABD

Options :

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 5330727687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Autoren thematisieren den Weberaufstand in Schlesien im Jahre

1844 in ihren Werken ?

A Heinrich Heine

B. Adalbert Stifter

C. Gerhart Hauptmann
D. Theodor Fontane

E. Hugo Ball

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund D
2, Nur A und B
3. Nur A und C
4. NurB, D und E
Options :
1.1
2.2

3.3
4.4

Question Number : 60 Question Id : 5330727687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Autoren thematisieren den Weberaufstand in Schlesien im Jahre

1844 in ihren Werken ?

A Heinrich Heine

B. Adalbert Stifter

& Gerhart Hauptmann

D. Theodor Fontane

E. Hugo Ball

Von den folgenden Optionen wihlen Sie die richtige aus.
1, Nur A, Bund D

2. Nur A und B
3. Nur Aund C
4. NurB, D und E
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330727688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Verb+Praposition+Kasus Kombinationen sind richtig ?
neugierig sein + auf + AKK

niitzlich sein + fiir + AKK

reich sein + vor + DAT

schidlich + sein Hir + AKK

. schuld sein + auf + DAT

Von den folgenden Optionen wihlen Sie die richtige aus.

1. Nur A, B, und C

2. Nur A, C,und E

ZE-Nel-

3. Nur B, C, und E
4. Nur A, Bund D
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330727688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Verb+Praposition+Kasus Kombinationen sind richtig ?

A neugierig sein + auf + AKK
B. niitzlich sein + fiir + AKK
C. reich sein + vor + DAT

D. schidlich + sein Hir + AKK
E. schuld sein + auf + DAT

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, B, und C

2, Nur A, C,und E
3. Nur B, C, und E
4. Nur A, Bund D

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330727689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Ausdriicke fiir,, sterben” gelten als Synonyme ?
A Das Klettern hat ihm sein Leben gekostet.

B. Das Klettern hat ihm mitgenommen.

e Er ist beim Bergsteigen untergehen.

D. Er ist beim Klettern todlich verungliickt.

E. Er ist beim Bergsteigen ums Leben gekommen

Von den folgenden Optionen withlen Sie die richtige aus.

1. Nur A, Bund C
2 Nur A, Dund E
3. NurB, C, und E
4, NurB, Cund D

Options :

1.1

2.2

3.3

4.4

Question Number : 62 Question Id : 5330727689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Ausdriicke fiir,, sterben” gelten als Synonyme ?

A Das Klettern hat ihm sein Leben gekostet

B. Das Klettern hat ihm mitgenommen.

e, Er ist beim Bergsteigen untergehen.

D. Er ist beim Klettern tédlich verungliickt.

E. Er ist beim Bergsteigen ums Leben gekommen

Von den folgenden Optionen withlen Sie die richtige aus.

1. Nur A, Bund C
2. Nur A, Dund E
3 NurB, C, und E
4, NurB, Cund D

Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 5330727690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden waren Ziele und Grundziige der Allierten gegeniiber Deutschland ?
A vollige Abriistung und Entmilitarisierung
B. Authebung der Nazi-Gesetze
e Forderung der Riistungsindustrie
D. Verstirkung des Erziehungs- und Gerichtswesens
E. Dezentralisierung der Verwaltung,
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund E
2. Nur A, Cund D
3. NurB, Cund D
4, Nur A, Cund E
Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330727690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden waren Ziele und Grundziige der Allierten gegeniiber Deutschland ?
A vollige Abriistung und Entmilitarisierung
B. Authebung der Nazi-Gesetze
e Forderung der Riistungsindustrie
D. Verstirkung des Erziehungs- und Gerichtswesens
E. Dezentralisierung der Verwaltung,
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund E
2. Nur A, Cund D
3. NurB, Cund D
4, Nur A, Cund E
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330727691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Ereignisse zihlen zu den Hohepunkten des Kalten Krieges ?
Eingreifen Iseraels in die Suezkrise (1956)

Kiieg in Vietnam (1964-75)

Korea-Krieg (1950-53)

Vorstofs in den Libanon bis Beirut (1982)

Kuba-Krise (1962)

Von den folgenden Optionen wiihlen Sie die richtige aus.

1. NurB, Cund D

2. NurB, D und E

monNEp

3. Nur A, Cund E
4, NurB, Cund E
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330727691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Ereignisse zihlen zu den Hohepunkten des Kalten Krieges ?
Eingreifen Iseraels in die Suezkrise (1956)

Kiieg in Vietnam (1964-75)

Korea-Krieg (1950-53)

Vorstofs in den Libanon bis Beirut (1982)

Kuba-Krise (1962)

Von den folgenden Optionen wihlen Sie die richtige aus.

1. NurB, Cund D

monNEp

2, NurB, D und E
3. Nur A, Cund E
4 Nur B, C und E

Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 5330727692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig ?

Liste I: Wort Liste II: Bedeutung
A briillen L instindig und demiitig bitten
B. drohen IL eindringlich autfordern
e flehen 1L extrem laut schreien
D. mahnen IV. jemandem etwas Unangenehmes ankiindigen
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AL B, C-III, D-IV
2. AL B-IV, C-1, D-II
3. Al B-I, C-I, D-IV
+ A1V, B-1I, C-III, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330727692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig ?

Liste I: Wort Liste II: Bedeutung
A briillen L instindig und demiitig bitten
B. drohen IL eindringlich autfordern
e flehen 1L extrem laut schreien
D. mahnen IV. jemandem etwas Unangenehmes ankiindigen
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AL B, C-III, D-IV
2 AL, B-IV, C-1, D-II
3. Al B-I, C-I, D-IV
+ A1V, B-1I, C-III, D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330727693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Wort Liste IT: Bedeutung
A jamimnern I tief getroffen und krampfartig weinen
B schluchzen IL. aus Angst oder Newvositit unzusammenhingend
sprechen
C. stammeln IIL (laut) klagen
D. tuscheln Iv. etwas geheinmisvoll und leise sprechen
Von den folgenden Optionen wihlen Sie die richtige aus.
% AL B-TII, C-II, D-IV
5 AL, BIIL, C-IV, D-I
3. A-III, B-1, C-II, D-IV
4. AL, B-1, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330727693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Wort Liste II: Bedeutung
A jammern L tief getroffen und krampfartig weinen
B schluchzen IL. aus Angst oder Nervositit unzusammenhingend
sprechen
C. stammeln IIL (laut) klagen
D. tuscheln Iv. etwas geheimmisvoll und leise sprechen
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-l, B-III, C-II, D-IV
2, AT, BIII, C-1V, D-I
3. AL B-I, CI, D-IV
4. AIIL B-I, C-IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330727694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Bedeutung trigt der Spruch ,,Sapere Aude!”

L Kunst= Natur - x
2. Ich denke, darum binich
3. Habe Mut, dich deines Eigenen Verstandes zu bedienen.
4. Die aufgehende Sonne
Options :
1.1
2.2
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3.3
4.4

Question Number : 67 Question Id : 5330727694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Bedeutung trigt der Spruch ,,Sapere Aude!”

L Kunst= Natur - x
2. Ich denke, darum bin ich.
3. Habe Mut, dich deines Eigenen Verstandes zu bedienen.
4 Die aufgehende Sonne
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330727695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welcher derFolgenden ist verbunden mit dem Descriptive Translation Studies?

1. Roman Jakobson
2, Justa Holz-Manttari
B Gideon Toury
4 Hans. J. Vermeer
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330727695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welcher derFolgenden ist verbunden mit dem Descriptive Translation Studies?

1. Roman Jakobson
2. Justa Holz-Manttari
3. Gideon Toury
4. Hans. . Vermeer
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330727696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Dolmetschen bedeutet )

1. die schriftliche Ubertragung eines gesprochenen Textes
2. die miindliche Ubertragung eines geschriebenen Textes
3. die schriftliche Ubertragung eines geschriebenen Textes
4. die miindliche Ubertragung eines gesprochenen Textes

Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 5330727696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Dolmetschen bedeutet

1. die schriftliche Ubertragung eines gesprochenen Textes
2. die miindliche Ubertragung eines geschriebenen Textes
3. die schriftliche Ubertragung eines geschriebenen Textes
4 die miindliche Ubertragung eines gesprochenen Textes

Options :

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 5330727697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Der Sendebrief vom Dolmetschen” diskutiert

1 Die Theorie und Methodik der Ubertragung eines gesprochenen Textes
2. Die Uberlegung zum Uberzestzen insbesondere die Rechtfertigung der
Ubersetzungsstrategien
3. Die allgemeine Theorie des Ubersetzens
4. Die Ubersetzungsstrategien zur Briefiibersetzung
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330727697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Der Sendebrief vom Dolmetschen” diskutiert

1. Die Theorie und Methodik der Ubertragung eines gesprochenen Textes
2. Die Uberlegung zum Uberzestzen insbesondere die Rechtfertigung der
Ubersetzungsstrategien
3. Die allgemeine Theorie des Ubersetzens
4. Die Ubersetzungsstrategien zur Briefiibersetzung
Options :
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1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330727698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage passtin Bezug auf die Methode des verfremdenden Ubersetzung?
1 Die Ubersetzung liest wie das Original.
2. Die Ubersetzung ist nach der Zielsprache orientiert.
3. Die Ubersetzung ist nach dem Zieltext orientiert.
4. Die Ubersetzung beriicksichtigt die Besonderheiten des Ausgangstextes.
Options :
1.1
2.2

3.3
4.4

Question Number : 71 Question Id : 5330727698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage passtin Bezug auf die Methode des verfremdenden Ubersetzung?
L Die Ubersetzung liest wie das Original.
2. Die Ubersetzung ist nach der Zielsprache orientiert
3. Die Ubersetzung ist nach dem Zieltext orientiert.
4. Die Ubersetzung beriicksichtigt die Besonderheiten des Ausgangstextes.
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 5330727699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Namen der bedeutenden Ubersetzungstheoritiker nach ihren
Lebzeiten ein:

A Friedrich Schleiermacher
B. Hieronymus

c Cicero

D. Martin Luther

Von den folgenden Optionen wihlen Sie die richtige aus:

1 A,B,C,D
3 B,C,D, A
3. C B D A
4. D, A BC

Options :

1.1

2.2
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3.3
4.4

Question Number : 72 Question Id : 5330727699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Namen der bedeutenden Ubersetzungstheoritiker nach ihren
Lebzeiten ein:

A. Friedrich Schleiermacher

B. Hieronymus

. Cicero

D. Martin Luther

Von den folgenden Optionen wihlen Sie die richtige aus:

L A BCD
2 B,C,D, A
% €.B. DA
4 D, A,B,C

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 5330727700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie das Ablaufschema zur Erklirung des unbekannten Wortschatzes in einem Text.
A Erklarungen
B. Kontrollfragen

L2 Antworten

D. Evaluation der Erkldrungen

Von den folgenden Optionen wihlen Sie die richtige aus.
1 A DCB

2, A,D,B,C

3. B,AD,C
4. B,C,D, A
Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330727700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie das Ablaufschema zur Erklirung des unbekannten Wortschatzes in einem Text.
A Erklarungen
B. Kontrollfragen
L Antworten
D. Evaluation der Erklarungen
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A DCB
2. A D,BC
3. B,A D, C
+ B,C,D, A
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 5330727701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden Aussagen sind richtig in Bezug auf Konferenzdolmetschen?
A Konferenzdolmetchen ist keine hochspezialisierte Tatigkeit. Jeder Ubersetzer kann
einfach ein Konferenzdolmetscher werden.

B. Die Aufgabe eines Konferenzdolmetschers ist, die Aussagen der Redner mit all ihrem
semantischen, affektiven und &dsthetischen Gehalt dem Zuhorer in seiner Sprache zu
vermitteln.

(& Konferenzdolmetschen unterscheidet sich von Gerichtsdolmetschen,

Geschiiftsdolmetschen und Begleitdolmetschen.
D. Konferenzdolmetschen gibt es erst seit dem Anfang des 20. Jahthunderrts.
E. In der heutigen Zeit hat Konferenzdolmetschen seine Relevanz verloren
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
2 NurB, Cund D

A Nur A, Dund E
4. Nur A, Cund D
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 5330727701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen sind richtig in Bezug auf Konferenzdolmetschen?
A Konferenzdolmetchen ist keine hochspezialisierte Tatigkeit Jeder Ubersetzer kann
einfach ein Konferenzdolmetscher werden.

B. Die Aufgabe eines Konferenzdolmetschers ist, die Aussagen der Redner mit all ihrem
semantischen, affektiven und &dsthetischen Gehalt dem Zuhorer in seiner Sprache zu
vermitteln.

(& Konferenzdolmetschen unterscheidet sich von Gerichtsdolmetschen,

Geschiiftsdolmetschen und Begleitdolmetschen.
D. Konferenzdolmetschen gibt es erst seit dem Anfang des 20. Jahthunderrts.
E. In der heutigen Zeit hat Konferenzdolmetschen seine Relevanz verloren

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C

2 Nur B, Cund D
A Nur A, Dund E
4, Nur A, Cund D

Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 5330727702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden Aussagen stimmen in Bezug auf Heinrich Bs1l?
Er war kein Mitglied der Grupype 47.
Er erhielt den Nobelpreis fiir Literatur.
Wo warst du Adam ist ein berithmter Roman von ihm.
Gruppenbild mit Dame ist noch ein anderer Roman geschrieben von ihm.
Nach der Teilung Deutschlands lebte B&ll in Ostdeutschland.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
2 NurB, Cund D
3. Nur A, Cund E
4. NurB, C und E
Options :
1.1
2.2
3.3
4.4

MONw

Question Number : 75 Question Id : 5330727702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

62/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Welche der folgenden Aussagen stimmen in Bezug auf Heinrich Bs11?
Er war kein Mitglied der Gruppe 47.
Er erhielt den Nobelpreis fiir Literatur.
Wo warst du Adam ist ein berithmter Roman von ihm.
Gruppenbild mit Dame ist noch ein anderer Roman geschrieben von ihm.
Nach der Teilung Deutschlands lebte Boll in Ostdeutschland.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
2 NurB, Cund D
3. Nur A, Cund E
4. NurB, C und E
Options :
1.1
2.2
3.3
4.4

MONw

Question Number : 76 Question Id : 5330727703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen stimmen nicht in Bezug auf Max Frisch?

A Er war ein Schweizer Schrifsteller der Nachkriegszeit.

B. Homo faber ist ein Drama vonihm

C. In seinem Werk Andorra thematisiert er die Suche nach Identitit

D. Max Frisch war der Autor des berithmten Dramas Der Besuch der alten Dame.
Von den folgenden Optionen wihlen Sie die richtige aus.

1. Nur A und B
2, Nur Bund C
3. NurCund D
4. Nur Bund D

Options :

1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 5330727703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen stimmen nicht in Bezug auf Max Frisch?
A Er war ein Schweizer Schrifsteller der Nachkriegszeit.
B. Homo faber ist ein Drama von ihm.
C. In seinem Werk Andorra thematisiert er die Suche nach Identitit
D. Max Frisch war der Autor des berithmten Dramas Der Besuch der alten Dame.
Von den folgenden Optionen wihlen Sie die richtige aus.
5 8 Nur A und B
2, Nur Bund C
3 NurCund D
4, Nur Bund D
Options :
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1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330727704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden sind unter Kulturkompetenzen eines Ubersetzers gemeint?
A die Fakten iiber das fremde Land, das Volk und die Sprache zu wissen
B. Der Ubersetzer spielt die Rolle des Kulturmittlers.
e, Der Ubersetzer versteht die Nuancen der beiden Sprachen und des Sprachgebrauchs.

1 Der Ubersetzer ist oft physisch unterwegs zwischen den zwei Landern.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 Nur A, Bund C
2 Nur B, C und D
;5 NurC, D und A
4, Nur Bund C

Options :

1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 5330727704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden sind unter Kulturkompetenzen eines Ubersetzers gemeint?
A die Fakten iiber das fremde Land, das Volk und die Sprache zu wissen
B. Der Ubersetzer spielt die Rolle des Kulturmittlers.
e Der Ubersetzer versteht die Nuancen der beiden Sprachen und des Sprachgebrauchs.
D. Der Ubersetzer ist oft physisch unterwegs zwischen den zwei Landern.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
o NurB, Cund D
3. NurC,D und A
4. Nur B und C
Options :
1.1
2.2

3.3
4.4

Question Number : 78 Question Id : 5330727705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Theoretiker Liste IT: Idee
A Derrida L. Das Primat des Ubersetzers
B. Edward Said II. Unmoglichkeit des Ubersetzens
& Martin Luther IIL bipolare Trennung des Selbst und des
Anderen
D K. Reiss V. verdeutschende Ubersetzung

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 A, B, C-II, D-IV

2 AL BII, C-IV, D-1
3. AL B-1, C-IV, D-II
4. A1V, B-1, CI, D-III

Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 5330727705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Theoretiker Liste II: Idee
A Derrida L Das Primat des Ubersetzers
B. Edward Said II. Unmoglichkeit des Ubersetzens
e Martin Luther IIL bipolare Trennung des Selbst und des
Anderen
D. K. Reiss V. verdeutschende Ubersetzung
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AL B-II, C-TII, D-IV
2. AL B-II, C-1V, D-1
3. AL B-1, C-1IV, D-II
4. A-IV, B-I, C-I, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330727706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

65/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Welche Kombination ist richtig ?

Liste I: Autor/ Autorin Liste IT: Werk
A T. Niranjana L Location of Culture
B. Homi K Bhabha II. Decolonizing the Mind
<. L. Venut IIL. Siting Translation
D. Ngugiwa Thiong IV. The Translator’s Invisibility
Von den folgenden Optionen wihlen Sie die richtige aus.
18 Al B-II, C-III, D-IV
2. AL, BII, C-1V, D-I
3 AL, B-I, C-IV, D-II
4. A-IV, B-1, C-1I1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 5330727706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig ?

Liste I: Autor/ Autorin Liste IT: Werk
A T. Niranjana L Location of Culture
B. Homi K Bhabha II. Decolonizing the Mind
<. L. Venut IIL. Siting Translation
D. Ngugiwa Thiong IV. The Translator’s Invisibility
Von den folgenden Optionen wihlen Sie die richtige aus.
18 Al B-II, C-III, D-IV
2 AL, BIIL, C-IV, D-I
3 AL, B-I, C-IV, D-II
4. A-IV, B-1, C-1I1, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 5330727707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig ?

Liste I: Theoretiker-Theoretikerin Liste II: Theorie

A Hans J. Vermeer L Translation shift
B. Catford II. Texttypmodell
€ Noam Chomsky IIL. Skopostheorie
D. K. Reiss IV. Transformationsgrammatik
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AL B-II, C-NII, D-IV
2. AL BII, C-1V, D-I
3. AL B-I, C-IV, D-II
+ A1V, B-1, C-II, D-III

Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330727707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig ?

Liste I: Theoretiker-Theoretikerin Liste II: Theorie

A Hans J. Vermeer L Translation shift
B. Catford II. Texttypmodell
€ Noam Chomsky IIL. Skopostheorie
D. K. Reiss IV. Transformationsgrammatik
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AL B-II, C-NII, D-IV
2 AL, BII, C-1V, D-I
3. AL B-I, C-IV, D-II
+ A1V, B-1, C-II, D-III

Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330727708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I.Gedichtform Liste IT: Definition
A Elegie L ist ein feierlicher Lobgesang zur Verherrlichung
von Gottern, Helden, Herrschern oder auch
Tugenden.
B. Hymne II. hat pointiert geformte Gedanken.
€ Epigramm IIT. behandelt ein wiirdiges Thema.
D. Ode IV. driickt eine wehmutige oder resignierende

Stimmung aus.
Von den folgenden Optionen wihlen Sie die richtige aus.

1 A-l, B-II, C-II, D-IV
2 A, BII, C-1V, D-1
3. AL, B-1, C-IV, D-II
4. AV, B-I, CI, D-TII

Options :

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 5330727708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I:Gedichtform Liste II: Definition
A Elegie L ist ein feierlicher Lobgesang zur Verherrlichung
von Gottern, Helden, Herrschern oder auch
Tugenden.
B. Hymmne II. hat pointiert geformte Gedanken.
€ Epigramm IIL behandelt ein wiirdiges Thema.
D. Ode IV. driickt eine wehmutige oder resignierende

Stimmung aus.
Von den folgenden Optionen wihlen Sie die richtige aus.

L A, B-1I, C-III, D-IV
2. AT, BIII, C-1V, DI
3, AL B-1, C-IV, DI
4, A-1V, B-1, C-11, D-III

Options :

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 5330727709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Klangform Liste IT: Definition
A Anapher L eine Kombination von Wortern mit gleich oder
dhnlich klingenden Vokalen
B. Epipher II. Verse beginnen mit demselben Wort oder
denselben Wortem.
€ Alliteration 111 ein Wort oder mehrere Worter werden am
Versende wiederholt.
D. Assonanz Iv. gleich klingelnde Konsonanten folgen aufeinander.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-l, B-II, C-II, D-IV
2 A, BII, C-1V, D-1
3. AT, B-1, C-IV, D-II
4 AV, B-I, C-II, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330727709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Klangform Liste II: Definition
A Anapher L eine Kombination von Wortern mit gleich oder
dhnlich klingenden Vokalen
B. Epipher II. Verse beginnen mit demselben Wort oder
denselben Wortern.
C; Alliteration IIL ein Wort oder mehrere Worter werden am
Versende wiederholt.
D. Assonanz Iv. gleich klingelnde Konsonanten folgen aufeinander.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A, B-I, C-III, D-IV
2, AL, B-IIL, C-IV, D-I
3. AL, B-1, C-IV, D-II
1 AV, B-1, CII, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330727710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen stimmen in Bezug auf Litearturtheorie?
A Aufgabe der Literaturtheorie konnte sein, die Griinde fiir Kanonisierungsprozesse in
Vergangenheit und Gegenwart zu untersuchen.
B Dabei miissen die eigenen Wertungen, notwendigerweise, wertend kritisch reflektiert.
€ In der literaturwissenschaftlichen Theorie haben wir mit der scharfen Trennung
zwischen dem Subjekt und Objekt zu tun.
D. Die Vorhersagbarkeit ist ein wesentliches Merkmal der naturwissenschaftlichen Theorie,
aber nicht der literaturwissenschattlichen Theorie.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
0. NurB, Cund D
3. NurC,Dund A
4. NurD, Aund B
Options :
1.1
2.2

3.3
4.4

Question Number : 83 Question Id : 5330727710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden Aussagen simmen in Bezug auf Litearturtheorie?
A Autgabe der Literaturtheorie konnte sein, die Griinde fiir Kanonisierungsprozesse in
Vergangenheit und Gegenwart zu untersuchen.
B. Dabei miissen die eigenen Wertungen, notwendigerweise, wertend kritisch retlektiert
€ In der literaturwissenschaftlichen Theorie haben wir mit der scharfen Trennung
zwischen dem Subjekt und Objekt zu tun.
D. Die Vorhersagbarkeit ist ein wesentliches Merkmal der naturwissenschaftlichen Theorie,
aber nicht der literaturwissenschaftlichen Theorie.
Von den folgenden Optionen wihlen Sie die richtige aus.

1. Nur A, Bund C
o NurB, Cund D
3 NurC, D und A
4, NurD, Aund B

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330727711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In Bezug auf Poetik von Aristoteles, betrachten Sie die folgenden Argumente. Welche von ihnen

stimmen?

A Tragodie und Epos ahmen,, bessere”, aber Komédie ,, schlechtere” Menschen nach

B. Dichtung besitzt einen grof8eren Wert als Geschichte, weil diese darstellt, nicht nur was
geschehen sei, sondern auch was geschehen konnte.

. Dichtung entsteht durch Nachahmung der natiirlichen Phanomene.

D. Es ist nicht notwendig fiir den Handlungsablauf einer Dichtung, plausibel zu sein
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur A, Bund C
2. NurB,Cund D
3. NurC,D und A
4 NurD, Aund B

Options :

1.1

2.2

3.3

4.4

Question Number : 84 Question Id : 5330727711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Bezug auf Poetik von Aristoteles, betrachten Sie die folgenden Argumente. Welche von ihnen

stimmen?

A Tragodie und Epos ahmen,, bessere”, aber Komédie ,, schlechtere” Menschen nach.

B. Dichtung besitzt einen grof8eren Wert als Geschichte, weil diese darstellt, nicht nur was
geschehen sei, sondern auch was geschehen konnte.

e, Dichtung entsteht durch Nachahmung der natiirlichen Phanomene.

D. Es ist nicht notwendig fiir den Handlungsablauf einer Dichtung, plausibel zu sein.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 Nur A, Bund C
2 NurB, Cund D
3.NurC, D und A
4 NurD, Aund B

Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 5330727712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Theorien der Literatur- und Kulturwissenschaft in eine
chronologische Reihenfolge ein:

A Kritische Theorie
B. Diskursanlyse
=L Positivismus
D. Russischer Formalismus
E. Ecocriticism
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A B CDE
5  BCDEA
3. C,DABE
4, D, ABCE
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330727712 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Ordnen Sie die folgenden Theorien der Literatur- und Kulturwissenschaft in eine
chronologische Reihenfolge ein:

Kritische Theorie

Diskursanlyse

Positivismus

Russischer Formalismus

MO0 wp

: Ecocriticism
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A B G D, E
2, B.C D.EA
3. C,D,ABE
4. D, A B,CE
Options :
1.1
2.2

3.3
4.4

Question Number : 86 Question Id : 5330727713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was ist, nach Aufklirung, die Aufgabe der Literatur?

1. Klassenbewusstsein
2. Vergniigen
3. Moralische Erziehung des Menschen
4. Unterhaltung
Options :

1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 72/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 86 Question Id : 5330727713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was ist, nach Aufklirung, die Aufgabe der Literatur?

18 Klassenbewusstsein
2. Vergniigen
3. Moralische Erziehung des Menschen
4. Unterhaltung
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330727714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welches aus den untenerwihnten Werken ist NICHT ein Werk von Friedrich Schiller?
1 Kabale und Liebe
2 Wilhelm Tell
3 Die Riauber
4. Wilhelm Meisters Lehrjahre
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330727714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welches aus den untenerwihnten Werken ist NICHT ein Werk von Friedrich Schiller?
1. Kabale und Liebe
2 Wilhelm Tell
3 Die Riauber
4. Wilhelm Meisters Lehrjahre
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330727715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Die Mittlere Phase der Romantik nennt man auch als...
1 Heidelberger Romantik
2 Berliner Romantik
3 Wiener Romantik
4, Weimarer Romantik
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330727715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Die Mittlere Phase der Romantik nennt man auch als...
1. Heidelberger Romantik
2. Berliner Romantik
3. Wiener Romantik
4, Weimarer Romantik
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330727716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Begriffe wie “mterkulturelle Literatur”, “Literatur der Fremde” und , Migranten- wie
Migrationsliteratur” bezeichnet die Literatur, die

1. von deutschen Autoren, die nicht in Deutschland wolmen, geschrieben worden ist.
2, von Autoren nichtdeuscher Herkunft geschrieben worden ist.
3. aus anderen Sprachen in deutsche Sprache iibersetzt worden ist.
4. aus deutscher Sprache in andere Sprache iibersetzt worden ist.
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330727716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Begriffe wie “interkulturelle Literatwr”, “Literatur der Fremde” und , Migranten- wie
Migrationsliteratur” bezeichnet die Literatur, die

1. von deutschen Autoren, die nicht in Deutschland wolmen, geschrieben worden ist.
2, von Autoren nichtdeuscher Herkunft geschrieben worden ist.
3. aus anderen Sprachen in deutsche Sprache iibersetzt worden ist.
4. aus deutscher Sprache in andere Sprache iibersetzt worden ist.
Options :
1.1
2.2
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3.3
4.4

Question Number : 90 Question Id : 5330727717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Eigenschaften gehsren NICHT zum Epischen Theater?

Im Epischen Theater bilden Nutzen und und Vergniigen eine dialektische Einheit.
Das Theater ist nicht politisch.

Der Zuschauer verhaltet sich kritisch dem Dargestellten gegeniiber.

Der Zuschauer ist dem Dargestellten gegeniiber nicht kritisch.

Der Zuschauer bleibt passiv.

SECNoN- S

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur B, C, und D
2. Nur A, Bund D
3. NurB, D und E
4. NurC, D und E
Options :
1.1
2.2

3.3
4.4

Question Number : 90 Question Id : 5330727717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Eigenschaften gehsren NICHT zum Epischen Theater?

Im Epischen Theater bilden Nutzen und und Vergniigen eine dialektische Einheit.
Das Theater ist nicht politisch.

Der Zuschauer verhaltet sich kritisch dem Dargestellten gegeniiber.

Der Zuschauer ist dem Dargestellten gegeniiber nicht kritisch.

Der Zuschauer bleibt passiv.

SECNoN- -2

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur B, C, und D
2. Nur A, Bund D
3. NurB, D und E
4. NurC, D und E
Options :
1.1
2.2

3.3
4.4

Question Number : 91 Question Id : 5330727718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen stimmen?

A Sturm und Drang ist keine Gegenbewegung sondern eine Erginzung von Aufklirung.

B. Sturm und Drang, ist eine Gegenbewegung von Aufklarung.

e Genialitit, Spontanitit und Empfindung sind einige der Schlagwdrter von Sturm und
Drang,.

D. Die Leiden des jungen Werthers ist ein klassisches Beispiel von Sturm und Drang,

E: Sturm und Drang legt viel Wert auf Rationalitit.

Von den folgenden Optionen wihlen Sie die richtige aus.
1. NurB, C und A
2. NurB, Cund D
3. Nur A, Cund E
4. NurB, E und A
Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330727718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen stimmen?

A Sturm und Drang ist keine Gegenbewegung sondern eine Erginzung von Aufklirung.

B. Sturm und Drang, ist eine Gegenbewegung von Aufklarung.

e Genialitit, Spontanitit und Empfindung sind einige der Schlagwiorter von Sturm und
Drang,.

D. Die Leiden des jungen Werthers ist ein klassisches Beispiel von Sturm und Drang,

E: Sturm und Drang legt viel Wert auf Rationalitit

Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur B, C und A
2. NurB, Cund D
3. Nur A, Cund E
4. Nur B, E und A
Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 5330727719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Epochen in chronologische Reihenfolge ein

A Barock

B. Klassik

€ Naturalismus

D. Auftkiarung

E. Literatur der Weimarer Republik

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 B,ACDE

2. A; D, C.E, B
3, A,D,B,EC
4. A,D,B,CE
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 5330727719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Epochen in chronologische Reihenfolge ein

A Barock

B. Klassik

E: Naturalismus

D. Auftkiarung

E. Literatur der Weimarer Republik

Von den folgenden Optionen wihlen Sie die richtige aus.
i 8 B,ACDE

2. ADCEB
3, A,D,B,EC
4. AD B CE

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 5330727720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Autorinnen in eine chronologische Reihenfolge ein.
A Christa Wolt

B. Anette von Droste — Hiilshoff

& Bettina von Arnim

D. Judith Hermann

Von den folgenden Optionen wihlen Sie die richtige aus.

1 D,B, A C
2. B, C. D, A
3, A,B,D,C
4. C B AD

Options :

1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330727720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Autorinnen in eine chronologische Reihenfolge ein.
A Christa Wolf

B. Anette von Droste — Hiilshoff

& Bettina von Arnim

D. Judith Hermann

Von den folgenden Optionen wihlen Sie die richtige aus.

1 D,B, A,C
2. B, C. D, A
3. A B D,C
4. C,B,A,D

Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 5330727721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

ListeI: Liste II:
A Bernhard Schlink I Jakob der Liigner
B. Wolfgang Borchert II. Der grofie Kater
C. Jureck Becker IIL Der Vorleser
D. Thomas Hiirlimann V. Drauflen vor der Tiir
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-IV,B-1II,C-1II, D-I
2. A-TIL B-1V,C-1, D-II
3. A-1,B-1V,C-1I, D- I
+ A-1I,B-1,C-TI,D-IV
Options :
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1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330727721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

ListeI: Liste II:
A Bernhard Schlink 1 Jakob der Liigner
B. Wolfgang Borchert II. Der grofie Kater
C. Jureck Becker IIL Der Vorleser
i Thomas Hiirlimann IV. Drauflen vor der Tiir
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-TV, B-II, C- II, D- 1
2. A-TII, B-1IV,C-1, D-1I
3. A-1,B-1IV,C-1II, D- I
4, A-TI, B-1,C- III, D- IV
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330727722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Liste II:
A Triinmmerliteratur L die goldenen Zwanziger Jahren
B. Klassik II. Realitdt des Schutts und der Ruinen
| Die Weimarer Republik IIL die blaue Blume
D. Romantik IV. die desthetische Erziehung des Menschen
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-LB-IILC-II,D-IV
2, A-1I, B-1V, C- 1, D- I
3, A-1V,B-1I, C-III, D- I
4. A-TIL B-1,C-1V, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330727722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Liste II:
A Triimmerliteratur L die goldenen Zwanziger Jahren
B. Klassik II. Realitit des Schutts und der Ruinen
S Die Weimarer Republik IIL die blaue Blume
D. Romantik IV. die desthetische Erziehung des Menschen
Von den folgenden Optionen wihlen Sie die richtige aus.
18 A-1,B-1I,C-1I, D- IV
2. A-1I,B-1V,C-1, D-III
3. A-1V, B-1I, C-III, D- I
4. A-IIL B-1,C-1V, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330727723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen stimmen? Lesen Sie das Gedicht und wihlen die Aussagen, die
stimmen, aus.

man muss was tun

muss man was tun

was muss man tun

tun muss man was

man hitte was getan
hitte man was getan
was hitte man getan
hitte man was getan

tun was man muss
was man tun muss
tun muss man was

was muss man tun

A Dieses Gedicht unterscheidet zwischen korrekten und unkorrekten Satzstrukturen.

B. Dieses Gedicht beschiiftigt sich mit der Frage, wie der Mensch sich den eigenen
Verantwortungen gegeniiber verhilt
| Dieses Gedicht ist ein Beispiel von Konkreter Poesie.
D. Die zweite Strophe stellt die irrealen Entschuldigungen, die der Mensch bereit hat, um
die eigenen Verantwortungen zu vermeiden
E. Dieses Gedichtist ein Beispiel von Sommet.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. NurB, Cund D
2. Nur A, Bund C
3. Nur A und E
4. Nur B und A
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330727723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen stimmen? Lesen Sie das Gedicht und wihlen die Aussagen, die
stimmen, aus.

man muss was tun

muss man was tun

was muss man tun

tun muss man was

man hitte was getan
hitte man was getan
was hitte man getan
hitte man was getan

tun was man muss
was man tun muss
tun muss man was

was muss man tun

A Dieses Gedicht unterscheidet zwischen korrekten und unkorrekten Satzstrukturen.

B. Dieses Gedicht beschiiftigt sich mit der Frage, wie der Mensch sich den eigenen
Verantwortungen gegeniiber verhilt.
| Dieses Gedicht ist ein Beispiel von Konkreter Poesie.
D. Die zweite Strophe stellt die irrealen Entschuldigungen, die der Mensch bereit hat, um
die eigenen Verantwortungen zu vermeiden
E. Dieses Gedichtist ein Beispiel von Sommet.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. NurB, Cund D
2. Nur A, Bund C
3. Nur A und E
4. Nur B und A
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330727724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage iiber “Kalten Krieg” stimmt nicht?
1 Der Kalte Krieg ist ein Ergebiss der tiefen ideologischen Konflikten zwischen den
Allierten.
2. Der Kalte Krieg charakterisierte die Spannung zwischen den USA und der UdSSR.
B, Kalter Krieg bezeichnet die Zeit zwischen zwei Weltkriegen.
4 Berliner Blockade ist einer der Hoshepunkte des Kalten Krieges.
Options :
1.1

2.2
3.3
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4.4

Question Number : 97 Question Id : 5330727724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage iiber “Kalten Krieg” stimmt nicht?
L Der Kalte Krieg ist ein Ergebiss der tiefen ideologischen Konflikten zwischen den

Allierten.
2, Der Kalte Krieg charakterisierte die Spannung zwischen den USA und der UdSSR.
3. Kalter Krieg bezeichnet die Zeit zwischen zwei Weltkriegen.
4. Berliner Blockade ist einer der Hshepunkte des Kalten Krieges.
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Liste IT:
A 27 Februar 1933 L Antikomminternpakt zwischen Japan und
Deutschland
B. 25 November 1936 II. Angriff auf Polen
. 21 Juni 1948 IIL. Der Brand der Reichstagsgebaudes
D. 1 September 1939 Iv. Wihrungsreform
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AIV,B-ILC-1,D-II
2, A-IIL B- 1, C-1V, D- 11
3. A-TIL B-1,C-1I, D- IV
4. A-TI,B-1IL, C-1,D- IV
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Liste II:
A 27 Februar 1933 L Antikomminternpakt zwischen Japan und
Deutschland
B. 25 November 1936 II. Angritt auf Polen
. 21 Juni 1948 IIL. Der Brand der Reichstagsgebaudes
D. 1 September 1939 Iv. Wihrungsreform
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-1IV,B-1I,C-1, D-III
5 A-TII, B-1,C-1V, D- I
3. A-TIL, B-1,C-TI, D- IV
4. A-II, B-1II, C- 1, D- IV
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330727726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage iiber Wahrungsreform stimmt nicht?

L Durch Wihrungsreform wude die D-Mark in Westdeutschland eingefiihrt.
2. Sie brachte den sogenannten Wirtschaftswunder in Bundesrepublik Deutschland.
3. Die Wahrungsreform bed eutet Einfithrung des Euros in Schengener Staaten.
4. Als Reaktion brachte die Ostzone eigene Wihiung und erklirte Berlin als Teil der
ostlichen Wahrungszone.
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330727726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage iiber Wahrungsreform stimmt nicht?
L Durch Wihrungsreform wude die D-Mark in Westdeutschland eingefiihrt.

2. Sie brachte den sogenannten Wirtschattswunder in Bundesrepublik Deutschland.
3. Die Wihrungsreform bed eutet Emtithrung des Euros in Schengener Staaten.
4 Als Reaktion brachte die Ostzone eigene Wihrung und erklirte Berlin als Teil der
ostlichen Wihrungszone.
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330727727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden historischen Erreignisse in eine chronologische Reihenfolge ein.
A Ansetzung der Weimarer Verfassung,.
B. Die militirische Niederlage Deutschlands im ersten Weltkrieg

e Das Stattfinden der ersten wirklich allgemeinen, gleichen, geheimen und direkten
Wahlen in Deutschland.
D. Abstiirzung der Monarchie und Etablierung der Freistaaten anstatt Fiurstenstaaten

Von den folgenden Optionen wihlen Sie die richtige aus.
1. D, AB,C
2. C,B,AD
3. B,D, A C
4, B,D,C, A
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330727727 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
Ordnen Sie die folgenden historischen Erreignisse in eine chronologische Reihenfolge ein.
A Ansetzung der Weimarer Verfassung,.
B. Die militirische Niederlage Deutschlands im ersten Weltkrieg

e Das Stattfinden der ersten wirklich allgemeinen, gleichen, geheimen und direkten
Wahlen in Deutschland.
D. Abstiirzung der Monarchie und Etablierung der Freistaaten anstatt Fiurstenstaaten

Von den folgenden Optionen wihlen Sie die richtige aus.
1 D,ABC
2. C,B, A D
D B,D, A C
4  B/DCA
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330727728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Was bedeutet die Redewendung, “Sage mir, wie du wohnst, und sage dir, wer du bist”?

1 Diese alte Volksweisheit bedeutet, dass die Wohnorte zeigen, wie viel Geld ein Mensch
hat.
2. Diese alte Volksweisheit bedeutet, Wohnorte sind Lebensorte.
3. Diese alte Volksweisheit bedeutet, die Wohnorte die Perstnlichkeit eines Menschen
ausdriicken.
4. Diese alte Volksweisheit bedeutet, die Wohnorte und Wohnformen Ausdruck
gesellschaftlichen Status eines Menschen sind.
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330727728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was bedeutet die Redewendung, “Sage mir, wie du wohnst, und sage dir, wer du bist”?

1. Diese alte Volksweisheit bedeutet, dass die Wohnorte zeigen, wie viel Geld ein Mensch
hat.

2, Diese alte Volksweisheit bedeutet, Wohnorte sind Lebensorte.

3. Diese alte Volksweisheit bedeutet, die Wohnorte die Personlichkeit eines Menschen
ausdriicken.

4. Diese alte Volksweisheit bedeutet, die Wohnorte und Wohnformen Ausdruck
gesellschaftlichen Status eines Menschen sind.

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 5330727729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden historischen Erreignisse in eine chronologische Reihenfolge ein.

Griindung der vereinigten Nationen

Bau der Berliner Mauer

Griindung des Europarats

Kapitulation der deutschen Wehrmacht
Griindung der beiden deutschen Staaten

Von den folgenden Optionen wihlen Sie die richtige aus.
1L C.ABD.E

2. D, ACEB

3. E,B,CD A

4. A, D,B,CE

SECNoNC S

Options :
1.1
2.2
3.3
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4.4

Question Number : 102 Question Id : 5330727729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden historischen Erreignisse in eine chronologische Reihenfolge ein

Griindung der vereinigten Nationen
Bau der Berliner Mauer
Griindung des Europarats
Kapitulation der deutschen Wehrmacht
Griindung der beiden deutschen Staaten
Von den folgenden Optionen wihlen Sie die richtige aus.
1. C,ABDE
2. D ACE,B
3. E,B,C,D, A
4. A, D,B,CE
Options :
1.1
2.2
3.3
4.4

MoNwp

Question Number : 103 Question Id : 5330727730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Elterngeld bedeutet,
1 Das Geld, das die Eltern fiir die Kinder hinterlassen.
2 Das Geld, das die Kinder den Eltern geben sollen, nach dem sie anfangen, selber zu
verdienen.
3. Das Geld, dass die Eltern nach der Geburt des Kindes insgesamt fir 14 Monate beziehen
kénnen
4. Das Geld, das die Eltern gemeinsam verdienen.
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330727730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Elterngeld bedeutet,
1. Das Geld, das die Eltern fiir die Kinder hinterlassen.
2. Das Geld, das die Kinder den Eltern geben sollen, nach dem sie anfangen, selber zu
verdienen.
3, Das Geld, dass die Eltern nach der Geburt des Kindes insgesamt fiir 14 Monate beziehen
konnen
4. Das Geld, das die Eltern gemeinsam verdienen.
Options :
1.1
2.2
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3.3
4.4

Question Number : 104 Question Id : 5330727731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen iiber ,, Allgemeines Gleichbehandlungsgesetz” sind richtig ?
A, Es soll Diskriminierung wegen Alters, Geschlechts, Herkunft, Religion, einer
Behinderung und sexueller Identitit verhindern.

B. Dieses Gesetz schiitzt nur die Frauen gegen Diskriminierung am Arbeitsplatz.
e Bei Versto3en haben die Personen keinen Rechtsanspruch.

D. wind auch als Antidiskriminierungsgesetz genannt.

E. Dieses Gesetz ist seit 2006 in Kratt.

Von den folgenden Optionen wihlen Sie die richtige aus.

i NurB, Cund A

o NurD, Aund E

3 NurD und A
4, NurE, Bund C
Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330727731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden Aussagen iiber ,, Allgemeines Gleichbehandlungsgesetz” sind richtig ?
A. Es soll Diskriminierung wegen Alters, Geschlechts, Herkunft, Religion, -einer
Behinderung und sexueller Identitit verhindern.
Dieses Gesetz schiitzt nur die Frauen gegen Diskriminierung am Arbeitsplatz.
Bei Verstof3en haben die Personen keinen Rechtsanspruch.
wird auch als Antidiskriminierungsgesetz genannt.
’ Dieses Gesetz ist seit 2006 in Kratt
Von den folgenden Optionen wihlen Sie die richtige aus.
I NurB, C und A
. NurD, Aund E
3. Nur D und A
4, NurE, Bund C
Options :
1.1
2.2
3.3
4.4

b

Question Number : 105 Question Id : 5330727732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen stimmen nicht?

A. Immanuel Kant, der das Gesetz des sittlichen Handels formulierte, ist einer der
einflussreichsten Philosophen aus Deutschland.

Das geographische Zentrum der Klassik war Jena.

1999 wurde Weimar mit dem Titel ,, Kulturstadt Europs” bezeichnet

Max Frisch ist ein Osterreichischer Schriftsteller.

2019 wurde Peter Handke mit Nobelpreis bezeichnet.

Von den folgenden Optionen wihlen Sie die richtige aus.

L Nur Bund D

BB A

2. NurB, Aund E
3. Nur A, Cund D
4, Nur D und A

Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 5330727732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen stimmen nicht?
A, Immanuel Kant, der das Gesetz des sittlichen Handels formmulierte, ist einer der
einflussreichsten Philosophen aus Deutschland.
Das geographische Zentrum der Klassik war Jena.
1999 wurde Weimar mit dem Titel ,, Kulturstadt Europs” bezeichnet.
Max Frisch ist ein Osterreichischer Schriftsteller.
2019 wurde Peter Handke mit Nobelpreis bezeichnet.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. NurBund D
2 NurB, Aund E
3. Nur A, Cund D
4. Nur D und A
Options :
1.1
2.2

3.3
4.4

gl el

Question Number : 106 Question Id : 5330727733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wer war aus dieser Liste kein Bundeskanzler Deutschlands?

1 Gerhard Schroder

2, Helmut Schmidt

3 Helmut Biichner

4, Konrad Adenauer
Options :

1.1
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2.2
3.3
4.4

Question Number : 106 Question Id : 5330727733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wer war aus dieser Liste kein Bundeskanzler Deutschlands?

1 Gerhard Schroder
2. Helmut Schmidt
3. Helmut Biichner
4, Konrad Adenauer

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 5330727734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Bedeutungen von der Redewendung sind korrekt ?
., Male den Teufel nicht an die Wand.”

A Man daif einen Teutel nie an die Wand malen.
B. Man muss es vermeiden, das Negative auszusprechen.
€. Sprich nicht iiber das Negative, sonst tritt es noch ein.
D. Ein Teufel ist an die Wand schwer zu zeichnen.
E Schwre nicht das Ungliick herauf, indem du dariiber sprichst.
Von den folgenden Optionen wihlen Sie die richtige aus.
1. Nur B, C und E
2. Nur A und B
3. NurD, Eund A
4 Nur Bund D
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330727734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Bedeutungen von der Redewendung sind korrekt ?
., Male den Teufel nicht an die Wand.”

A Man daif einen Teufel nie an die Wand malen.

B. Man muss es vermeiden, das Negative auszusprechen.

€ Sprich nicht iiber das Negative, sonst tritt es noch ein.

D. Ein Teufel ist an die Wand schwer zu zeichnen.

E: Schwére nicht das Ungliick herauf, indem du dariiber sprichst.
Von den folgenden Optionen wihlen Sie die richtige aus.

1. NurB, Cund E

2. Nur A und B

3. NurD,Eund A

4, Nur B und D
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Bedeutungen von der Redewendung , Ich mochte das nicht zwischen Tiir
und Angel besprechen” korrekt?

A Ein wichtiges Gesprich muss raumlich gut gestaltet sein.

B. Wichtige Gespriche sollen nicht an die Tiirschwelle gehalten werden.
| Es ist wichtig, dass man fir die wichtigen Gespriche genug Zeit nimmt.
D. Ich méchte lieber, dass wir uns fiir das Gesprich Zeit nehmen.

Von den folgenden Optionen wihlen Sie die richtige aus.

1. Nur D und B

2, Nur D und C

3. Nur A und B

4, Nur Bund C
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Bedeutungen von der Redewendung , Ich mochte das nicht zwischen Tiir
und Angel besprechen” korrekt?

A Ein wichtiges Gesprach muss rawmlich gut gestaltet sein

B. Wichtig e Gespriche sollen nicht an die Tiirschwelle gehalten werden.

S Es ist wichtig, dass man fir die wichtigen Gespriche genug Zeit nimmt

D. Ich méchte lieber, dass wir uns fiir das Gesprich Zeit nehmen.

Von den folgenden Optionen wihlen Sie die richtige aus.

18 Nur D und B

2. Nur D und C

3. Nur A und B
4, NurBund C
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Vernmthich macht er blau. Ich glaube nicht, dass er krank ist.” Welche Bedeutung des in kursiv
geschriebenen Satzteils ist richtig?
L Er mag die Schule nicht
2. Er liigt.
3. Er ist betrunken
+ Er schwinzt die Schule.
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Vernuthich macht er blau. Ich glaube nicht, dass er krank ist.” Welche Bedeutung des in kursiv
geschriebenen Satzteils ist richtig?
L Er mag die Schule nicht
2. Er liigt.
3. Er ist betrunken
+ Er schwinzt die Schule.
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Werke in eine chronologische Reihenfolge mnach ihrem
Erscheinungsjahr ein.

A Die Rauber
B. Die Judenbuche
€ Die Jungfrau aus Orleans
D. Briefe iiber die dsthetische Erziehung des Menschen
E Uber das Marrionettentheater
Von den folgenden Optionen wihlen Sie die richtige aus.
4 AED,B,C
2. C,D,A B E
3. A, D CEB
4. C, B D AE
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Werke in eine chronologische Reihenfolge nach ihrem
Erscheinungsjahr ein.

A Die Rauber
B. Die Judenbuche
€ Die Jungfrau aus Orleans
D. Briefe iiber die dsthetische Erziehung des Menschen
E. Uber das Marrionettentheater
Von den folgenden Optionen wihlen Sie die richtige aus.
1 AED,B,C
2. B ABE
3. A, D,CEB
4  CB,D,AE
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330727738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wer hatIkon, Index und Symbol als Teil von Zeichentheorie entwickelt?
L Noam Chomsky
2, Charles S. Peirce

3. Ferdinand de Saussure
4, Johann Gottfried Herder
Options :

1.1
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2.2
3.3
4.4

Question Number : 111 Question Id : 5330727738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Werhat Ikon, Index und Symbol als Teil von Zeichentheorie entwickelt?
1. Noam Chomsky

&, Charles S. Peirce
3 Ferdinand de Saussure
4, Johann Gotttried Herder
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330727739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welcher Bereich der Sprachwissenschaft befasst sich mit Lautlehre?
1. Phonetik
2. Semiotik
3. Semantik
4. Syntax
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 5330727739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welcher Bereich der Sprachwissenschaft befasst sich mit Lautlehre?

1 Phonetik
2, Semiotik
3. Semantik
4. Syntax

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 5330727740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Aus welcher Theorie stammen die Begriffe ,, elaborierter Code” und ,, restringierter Code?
1 Strukturalismus
2 Defizittheorie

3. Generative Grammatik
4, Behaviourismus

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 5330727740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aus welcher Theorie stammen die Begritfe ,, elaborierter Code” und ,, restringierter Code?

1 Strukturalismus
2 Defizittheorie
3. Generative Grammatik
4, Behaviourismus
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330727741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sprache, mit der Aussagen iiber eine Sprache gemacht werden, heif3t...
1 Standardsprache

2. Lernersprache
3. Bildungssprache
4. Metasprache
Options :
1.1
2.2
3.3
4.4
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Question Number : 114 Question Id : 5330727741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sprache, mit der Aussagen iiber eine Sprache gemacht werden, heifdt....

1 Standardsprache

2. Lernersprache
3. Bildungssprache
4. Metasprache
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330727742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lemen, das bewusst und zielgerichtet lduft, heifst...

1 inzidentelles Lernen
2. intentionales Lernen
3. bewusstes Lernen
4. entdeckendes Lernen
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330727742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Lemnen, das bewusst und zielgerichtet liutt, heifst...

1 inzidentelles Lernen
2. intentionales Lernen
3. bewusstes Lernen
4, entdeckendes Lernen
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Starke Verben mit dem Stammvokal —e erhalten im Prisens Indikativ in der 2. und 3. Person
Singular e/i(e) Wechsel. Welches der folgenden Verben bilden in diesem Fall eine Ausnahme?

1. bewegen

2. treten

3. werden

4, nehmen
Options :

1.1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

g28.digialm.com/CAE/viewHtmIPDFAction.action

96/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Starke Verben mit dem Stammvokal —e erhalten im Prisens Indikativ in der 2. und 3. Person
Singular e/i(e) Wechsel. Welches der folgenden Verben bilden in diesem Fall eine Ausnahme?

1. bewegen
2. treten
3. werden
4, nehmen
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330727744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Lernphasen in eine chronologische Reihenfolge ein.

A Uben
B. Prisentation
€. Einfithrung
D. Semantisierung
Von den folgenden Optionen wihlen Sie die richtige aus.
1 C,D,B, A
2, C,B,AD
3 C,B,D,A
4, C,ABD
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330727744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Lernphasen in eine chronologische Reihenfolge ein.

A Uben
B. Prisentation
€. Einfithrung
D. Semantisierung
Von den folgenden Optionen wihlen Sie die richtige aus.
1 C,D,B, A
2, C,B,AD
3 C,B,D,A
4, C,ABD
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ordnen Sie die folgenden Arbeitsschitte zur induktiven und gesteuerten Entdeckung von
Grammatikregeln in eine chronologische Reihenfolge ein.
A Die Schiiler entdecken, um welche grammatische Struktur es sich handelt.

B. Die Schiiler vergleichen und kategorisieren Beispiele.
S Die Schiiler leiten eine Regel ab.

D. Die Schiiler lernen viele Beispiele in Kontexten kennen.
Von den folgenden Optionen wihlen Sie die richtige aus.

1 D A BC

2. A, B, D,C

3 D,B,C, A
4. D,CB,A
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ordnen Sie die folgenden Arbeitsschitte zur induktiven und gesteuerten Entdeckung von
Grammatikregeln in eine chronologische Reihenfolge ein.

A Die Schiiler entdecken, um welche grammatische Struktur es sich handelt.

B. Die Schiiler vergleichen und kategorisieren Beispiele.

S Die Schiiler leiten eine Regel ab.

D. Die Schiiler lernen viele Beispiele in Kontexten kennen.

Von den folgenden Optionen wihlen Sie die richtige aus.

i 8 D, A B,C

2. A B D,C
3, D, B.C.A
4. D,C B, A

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 5330727746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Der Autor des Werkes ,,Ars poetica” ist

1 Aristoteles
2. Horaz
3. Platon
4, Cicero
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330727746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Der Autor des Werkes ,,Ars poetica” ist

1. Aristoteles
2, Horaz
3. Platon
4. Cicero
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Von wem stammt das berithmte Zitat —,,Das Sein bestimmt das Bewultsein’?
1. Auguste Comte
2. Karl Marx
3. Martin Heidegger
4. Wolfgang Iser
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Von wem stammt das berithmte Zitat —,, Das Sein bestimmt das Bewuf3tsein?
L Auguste Comte
2. Karl Marx
3. Martin Heidegger
4, Woltgang Iser
Options :
1.1
2.2

3.3
4.4

Question Number : 121 Question Id : 5330727748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Umformulierung von dem nachstehenden Satz ist richtig?

Markus hatte in der letzten Deutschpriifung eine schlechte Note. Am Abend davor durfte er ins

Kino gehen.

L Wenn Markus am Abend davor nicht hitte ins Kino gehen diirfen, hitte er
wahrscheinlich keine schlechte Note bekommen.

2. Wenn Markus am Abend davor nicht ins Kino gehen diitfen, hitte er wahrscheinlich
keine schlechte Note bekommen.

3. Wenn Markus am Abend davor ins Kino nicht gehen diirfen hitte, hitte er
wahrscheinlich keine schlechte Note bekommen.

4. Wenn Markus am Abend davor nicht ins Kino gehen diirfen hitten, hitte er
wahrscheinlich keine schlechte Note bekommen.

Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 5330727748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Umformulierung von dem nachstehenden Satz ist richtig?

Markus hatte in der letzten Deutschpriifung eine schlechte Note. Am Abend davor durfte er ins

Kino gehen.

L Wenn Markus am Abend davor nicht hitte ins Kino gehen diirfen, hitte er
wahrscheinlich keine schlechte Note bekommen.

2. Wenn Markus am Abend davor nicht ins Kino gehen diitfen, hitte er wahrscheinlich
keine schlechte Note bekommen.

3. Wenn Markus am Abend davor ins Kino nicht gehen diirfen hitte, hitte er
wahrscheinlich keine schlechte Note bekommen.

4. Wenn Markus am Abend davor nicht ins Kino gehen diirfen hitten, hitte er
wahrscheinlich keine schlechte Note bekommen.

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 5330727749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gliick und Glas,......
1 wer hat das.
2, wer hélt das.
3. wie leicht bricht das.
4. wozu ziahlt das.
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330727749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gliick und Glas,......
1 wer hat das.
&, wer hilt das.
;1 wie leicht bricht das.
4, wozu zihlt das.
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330727750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Was passt? Bei ihm ist der Groschen endlich.....
1. gehoben
2. gefallen.
3. geworden
4. geblieben.
Options :
1.1
2.2

3.3
4.4

Question Number : 123 Question Id : 5330727750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was passt? Bei thm ist der Groschen endlich.....

1 gehoben
2. gefallen.
3. geworden

4 geblieben.

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330727751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welches der folgenden Verben ist Genitiv?

1. bediirfen
2 betehlen
3. bevorzugen
4, beisteuern
Options :
1.1
2.2
3.3
4.4
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Question Number : 124 Question Id : 5330727751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welches der folgenden Verben ist Genitiv?

1. bediirfen
2 betehlen
3. bevorzugen
4, beisteuern
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“die F dhigkeit menschlicher Rede” wird sprachwissenschattlich folgendermafien bezeichnet:

1. parole
2. langue
3. langage
4. signifiant
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“die F dhigkeit menschlicher Rede” wird sprachwissenschattlich folgendermafien bezeichnet:

1. parole
2. langue
3. langage
4. signifiant
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330727753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie viele Phasen hat die menschliche Lautproduktion?

1. 5
2, 4
3. 3
4. 2
Options :
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330727753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie viele Phasen hat die menschliche Lautproduktion?

1 5
2 4
3. 3
4. 2
Options :
1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 5330727754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Mut, neu, eng. Welche Konsonanten werden bei den unterstrichenen Wortteilen ausgedriickt?

1 Nasale
2 Plosive
A Laterale
4. Frikative

Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 5330727754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Muit, neu, eng. Welche Konsonanten werden bei den unterstrichenen Wortteilen ausgedriickt?

1 Nasale
2 Plosive
3. Laterale
4, Frikative

Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 5330727755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 104/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

“Das Organon-Modell” wurde entwickelt von:
1. Roman Jakobson
2. Noam Chomsky
3. Karl Biihler
4. Albrecht Neubert
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 5330727755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
“Das Organon-Modell“ wurde entwickelt von:
1. Roman Jakobson
2. Noam Chomsky
3. Karl Biihler
4, Albrecht Neubert
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 5330727756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie heifdt das kleinste bed eutungsunterscheidende Segment einer Sprache?
1. Morphem
2. Phonem
3. Allomorph
4 Allophon
Options :
1.1
2.2
3.3
4.4
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Question Number : 129 Question Id : 5330727756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie heifst das kleinste bed eutungsunterscheidende Segment einer Sprache?
1 Morphem
2, Phonem
3. Allomorph
4. Allophon
Options :
1.1
2.2

3.3
4.4

Question Number : 130 Question Id : 5330727757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie heilen Paare von Wortern mit unterschiedlicher Bedeutung, die sich genau in
einem Lautsegment unterscheiden?

1 Minimalpaare
2. Apposition
3. Attribute
4. Flexion
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 5330727757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wie heilen Paare von Wortern mit unterschiedlicher Bedeutung, die sich genau in
einem Lautsegment unterscheiden?

1 Minimalpaare
2. Apposition
3. Attribute
4. Flexion
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 5330727758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Die Pluralform von, Brett” ist...

1. Brette

2 Bretten

3. Bretter

4. Brett
Options :
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1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 5330727758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Die Pluralform von, Brett” ist..

1. Brette
2. Bretten
3. Bretter
4, Brett

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 5330727759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Welche der folgenden Aussagen sind richtig?
A Verbindungen aus Nomen und Verb schreibt man zusammen.
B. Verbindungen aus Nomen und Verb schreibt man getrennt.
e Verbindungen aus Adjektiv und Verb schreibt man zusammen.
D. Verbindungen aus Adjektiv und Verb schreibt man getrennt.
E. Verbindungen aus Nomen und Adverb schreibt man zusammen.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 Nur Bund D
2. Nur Aund C
3. Nur D und E
+ Nur A und E
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330727759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen sind richtig?
A Verbindungen aus Nomen und Verb schreibt man zusammen.
B Verbindungen aus Nomen und Verb schreibt man getrennt.
e Verbindungen aus Adjektiv und Verb schreibt man zusammen.
D. Verbindungen aus Adjektiv und Verb schreibt man getrennt.
E. Verbindungen aus Nomen und Adverb schreibt man zusammen.
Von den folgenden Optionen wihlen Sie die richtige aus.
1 Nur Bund D
2. Nur Aund C
3. Nur D und E
+ Nur A und E

Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 5330727760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche der folgenden Aussagen sind richtig?

Hauptsatz und Nebensatz werden durch Komma getrennt.
Nebensatz und Nebensatz werden durch Komma nicht getrennt.
Hauptsatz und Hauptsatz werden durch Komma nicht getrennt.
Hauptsatz und Hauptsatz werden durch Komma getrennt
Partizipialsidtze werden durch Komma nicht getrennt.

ZE-Nel-

Von den folgenden Optionen wiihlen Sie die richtige aus.
18 Nur A und D
2. Nur Bund C

3. Nur D und E
4, Nur Aund E
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330727760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche der folgenden Aussagen sind richtig?

Hauptsatz und Nebensatz werden durch Komma getrennt.
Nebensatz und Nebensatz werden durch Komma nicht getrennt.
Hauptsatz und Hauptsatz werden durch Komma nicht getrennt.
Hauptsatz und Hauptsatz werden durch Komma getrennt

ZE-Nel-

Partizipialsidtze werden durch Komma nicht getrennt.
Von den folgenden Optionen wiihlen Sie die richtige aus.

18 Nur A und D

2. Nur Bund C

3. Nur D und E
4, Nur Aund E
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 5330727761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: Grammatischer Begrift Liste II: Synonym

A das Pronomen L das Adverb
B. der Konsonant II. das Adjektiv
| das Eigenschaftswort IIL das Fiirwort
D. das Umstandswort IV. der Mitlaut
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-IV,B-1II, C- T, D-1I
2, A-IV,B-1I, C-1III, D- I
3. A-IITI, B-1I, C-1V, D- 1
4. A-TIL B-1V, C-1I, D- 1

Options :

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 5330727761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: Grammatischer Begriff Liste II: Synonym

A das Pronomen L das Adverb
B. der Konsonant II. das Adjektiv
S das Eigenschattswort IIL das Fiirwort
D. das Umstandswort V. der Mitlaut
Von den folgenden Optionen wihlen Sie die richtige aus.
18 A-1IV,B-1II,C-1I, D-1
2. A-1IV,B-1I, C-1II, D-1
3. A-TII, B-1I, C- IV, D-1
4. A-IIL B-1V, C-1I, D-1

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 5330727762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

ListeI: Verb Liste IT: Kasus

A sich annehmen I Dativ
B. zuvorkommen II. Akkusativ
€ schimpfen IIL. Nominativ
D. gelten IV. Genitiv
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-1I,B-1V,C-1, D-1II
2. A-NIIL, B-IV,C-1I, D-1
3. A-IV,B-1,C-1I, D-III
+ A-1IV,B-1I,C-1II, D- 1

Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 5330727762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

ListeI: Verb Liste IT: Kasus

A sich annehmen I Dativ
B. zuvorkommen II. Akkusativ
€ schimpfen IIL. Nominativ
D. gelten IV. Genitiv
Von den folgenden Optionen wihlen Sie die richtige aus.
1 A-1I,B-1V,C-1, D-1II
2. A-NIIL, B-IV,C-1I, D-1
3. A-IV,B-1,C-1I, D-III
+ A-1IV,B-1I,C-1II, D- 1

Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 5330727763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombination ist richtig?

Liste I: NomenlListe Liste IT: Verb
A eine Einigung I treffen
B. einen Eindruck IL finden
C. eine Wahl IIL erzielen
D. einen Abschluss IV. schinden
Von den folgenden Optionen wihlen Sie die richtige aus.
1. A-II,B-1,C-1I,D- IV
2. A-1,B-1IC-1I, D- IV
3. A-ILB-IV,C-1,D-TI
4, A-TIL B-1V, C-1, D-11
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 5330727763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombination ist richtig?

Liste I: NomenlListe Liste IT: Verb
A eine Einigung I treffen
B. einen Eindruck IL finden
C. eine Wahl IIL erzielen
D. einen Abschluss IV. schinden

Von den folgenden Optionen wihlen Sie die richtige aus.
18 A-1I,B-1,C-1I,D-IV
2. A-1,B-1II, C-1II, D- IV
3. A-ILB-IV,C-1, D-TI
4. A-IIL B-1V, C-1, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 5330727764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Bedeutungspaare sind richtig?

ListeI Liste IT
A Mafinahmen ergreifen I erwarten
B. in Sicht sein II. handeln
S Stellung nehmen IIL. sich anstrengen
D. sich ins Zeug legen Iv. begriinden
Von den folgenden Optionen wihlen Sie die richtige aus.
18 A-1I,B-1,C-1IV, D-1II
2. A-1IL, B-1,C-1I, D- IV
3. A-LB-IILC-IL,D-IV
4. A-IV,B-1II, C- I, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 5330727764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 112/123



8/30/24, 11:22 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Welche Bedeutungspaare sind richtig?

ListeI Liste IT
A Mafinahmen ergreifen I erwarten
B. in Sicht sein II. handeln
S Stellung nehmen IIL. sich anstrengen
D. sich ins Zeug legen Iv. begriinden
Von den folgenden Optionen wihlen Sie die richtige aus.
18 A-1I,B-1,C-1IV, D-1II
2. A-1IL, B-1,C-1I, D- IV
3. A-LB-IILC-IL,D-IV
4. A-IV,B-1II, C- I, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 5330727765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Kombinationen sind richtig?

Liste I: Art der Angabe Liste II: Praposition
A Adversativangaben L entsprechend
B. Modalangaben II. trotz
€ Konzessivangaben IIL. infolge
D. Konsekutivangaben Iv. gegeniiber

Von den folgenden Optionen wihlen Sie die richtige aus.

1. A-IIT, B-1I, C- 1V, D- 1
2 A-TV,B-1, C-1I, D- III
3. A-1I,B-1V,C-1III, D- I
4. A-I,B-1IC-II,D- IV

Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 5330727765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Kombinationen sind richtig?

9N p

Liste I: Art der Angabe Liste II: Praposition
Adversativangaben L entsprechend
Modalangaben II. trotz
Konzessivangaben IIL. infolge
Konsekutivangaben Iv. gegeniiber

Von den folgenden Optionen wihlen Sie die richtige aus.

1.

2

3.

4.
Options :
1.1
2.2
3.3
4.4

A-1II, B-1I, C- 1V, D- 1
A-1V,B-1,C-1II, D- III
A-11,B-1V, C-1II, D- 1
A-I B-1I C-1I, D- IV

Question Number : 139 Question Id : 5330727766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Umformulierung von dem nachstehenden Satz ist richtig?
Das Modell der multiplen Intelligenz ist vielfacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht zu iiberpriifen ist

L

Options :
1.1
2.2
3.3
4.4

Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht iiberpriift wird.

Das Modell der multiplen Intelligenz ist vielfacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht iiberpriift werden kamn.

Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests iiberpriift worden ist.

Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests iiberpriift werden kénnen

Question Number : 139 Question Id : 5330727766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Welche Umformulierung von dem nachstehenden Satz ist richtig?
Das Modell der multiplen Intelligenz ist vielfacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht zu iiberpriifen ist
1 Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht iiberpriift wird.

2. Das Modell der multiplen Intelligenz ist vielfacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests schwer oder gar nicht iiberpriift werden kamn.
3. Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests iiberpriift worden ist.
4. Das Modell der multiplen Intelligenz ist vieltacher Kritik ausgesetzt, da es bis heute mit
Intelligenztests iiberpriift werden kénnen
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5330727767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Satzform von dem nachstehenden Relativsatz ist falsch?
ein Aspekt, der emnst genommen werden kann.

1. ein emst zu nehmender Aspekt.
2. ein Aspekt, der emst zu nehmen ist
3. ein Aspekt, der sich ernst nehmen lisst.
4, ein ermnster genommenerer Aspekt
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 5330727767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Satzform von dem nachstehenden Relativsatz ist falsch?
ein Aspekt, der emnst genommen werden kann.

1. ein ermst zu nehmender Aspekt
2. ein Aspekt, der emst zu nehmen ist
3. ein Aspekt, der sich ernst nehmen lisst.
4, ein ernster genommenerer Aspekt
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072306
Question Shuffling Allowed : No
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Question Id : 5330727768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Question Label : Comprehension

Lesen Sie den folgenden Text und beantworten Sie die darau folgenden Fragen!

Das Grundeinkommen ist ein Bestandteil einer Notwendigen gesellschaftlichen
Transformation. [...] Es geht heute beim Grundeinkommen im Kern um soziale Gerechtigkeit,
die keinen ausgrenzt, die jedem Menschen gleiche Moglichkeiten der freien individuellen
Entfaltung gibt Es geht um eine Demokratie, die wirklich lebending ist, die Menschen
befliigelt, fiir gute Lebens- und Abreitsbedingungen zu streiten. Und es geht um eine
Gesellschaft, die wm die Endlichkeit der Naturressourcen weif3, um die Verletzlichkeit der
Natur, unsere Lebensgrundlage.|...]

Ich halte das Grundeinkommen wegen seiner Demokratieférderung fHir unabdingbar: Kein
Mensch muss sich aus Existenznot und wegen drohender materiell bedingter Ausgrenzung,
erpressen oder entwiirdigen lassen. Formale politische Partizipationsmoglichkeit reicht nicht
aus, sie muss auch materiell begriindet sein. Ein solcher Grund ist das Grundeinkommen. Das
Grundeinkommen anerkennt jeden Menschen als Biirger, der sich in das sfentlich-politischen
Leben einbringen kann. Das ist soziale Gerechtigkeit, weil sie der Abwertung von Menschen
entgegentritt und die Autonomie des Menschen in einem Gemeinwesen voneinander
Anhingiger befordert.

Sub questions
Question Number : 141 Question Id : 5330727769 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Das Hauptthema des obigen Aufsatzesist ...............
L die individuelle Entfaltung

2. die Partizipationsmdglichkeit
3. gesellschaftliche Transformation
4. die soziale Gerechtigkeit

Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 5330727770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was befihigt die Menschen, fiir gute Lebens- und Abreitsbedingungen zu streiten?

1. ein Grundeinkommen
2, eine lebendige Demokratie
3. eine Demokratie
4 eine Gesellschaft
Options :
1.1
2.2
3.3
4.4
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Question Number : 143 Question Id : 5330727771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Das Grundeinkommen fiir die Menschen ermoglicht -

L die Anerkennung als Biirger
2. die soziale Gerechtigkeit
3. eine gesellschaftliche Transformation
4. materielle Ausgrenzung
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330727772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was passt nicht zusammen?

L erpressen
2. entwiirdigen
3. ausreichen
4. ausgrenzen
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330727773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage stimmt nicht in Bezug aut die menschliche Lebensgrundlage?

1 Die Naturressourcen sind nicht unendlich.
2 Die Naturressourcen sind endlich.
3. Die Naturist unverletzlich.
4, Die Naturist verletzlich.
Options :
1.1
2.2
3.3
4.4

Question Id : 5330727768 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Lesen Sie den folgenden Text und beantworten Sie die darau folgenden Fragen!

Das Grundeinkommen ist ein Bestandteil einer Notwendigen gesellschaftlichen
Transformation. [...] Es geht heute beim Grundeinkommen im Kern um soziale Gerechtigkeit,
die keinen ausgrenzt, die jedem Menschen gleiche Moglichkeiten der freien individuellen
Entfaltung gibt Es geht um eine Demokratie, die wirklich lebending ist, die Menschen
befliigelt, fiir gute Lebens- und Abreitsbedingungen zu streiten Und es geht um eine
Gesellschaft, die wm die Endlichkeit der Naturressourcen weif3, um die Verletzlichkeit der
Natur, unsere Lebensgrundlage.|...]

Ich halte das Grundeinkommen wegen seiner Demokratieférderung fHir unabdingbar: Kein
Mensch muss sich aus Existenznot und wegen drohender materiell bedingter Ausgrenzung
erpressen oder entwiirdigen lassen. Formale politische Partizipationsmoglichkeit reicht nicht
aus, sie muss auch materiell begriindet sein. Ein solcher Grund ist das Grundeinkommen. Das
Grundeinkommen anerkennt jeden Menschen als Biirger, der sich in das sffentlich-politischen
Leben einbringen kann. Das ist soziale Gerechtigkeit, weil sie der Abwertung von Menschen
entgegentritt und die Autonomie des Menschen in einem Gemeinwesen voneinander
Anhingiger befordert.

Sub questions

Question Number : 141 Question Id : 5330727769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Das Hauptthema des obigen Aufsatzesist ...............

1 die individuelle Entfaltung
2. die Partizipationsmdglichkeit
3. gesellschaftliche Transformation
4. die soziale Gerechtigkeit
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330727770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was befihigt die Menschen, fir gute Lebens- und Abreitsbedingungen zu streiten?

1. ein Grundeinkommen

2, eine lebendige Demokratie
3. eine Demokratie
4 eine Gesellschaft

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 5330727771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Das Grundeinkommen fiir die Menschen ermoglicht -

1 die Anerkennung als Biirger
2. die soziale Gerechtigkeit
3. eine gesellschaftliche Transformation
4. materielle Ausgrenzung
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 5330727772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was passt nicht zusammen?

1. erpressen
2. entwiirdigen
3. ausreichen
4. ausgrenzen
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330727773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Welche Aussage stimmt nicht in Bezug aut die menschliche Lebensgrundlage?

1 Die Naturressourcen sind nicht unendlich.
2 Die Naturressourcen sind endlich.
3. Die Naturist unverletzlich.
4, Die Naturist verletzlich.
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072307
Question Shuffling Allowed : No

Question Id : 5330727774 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Lesen Sie den Text und beantworten Sie die folgenden Fragen!

Wie sinnvoll ist es, Handlungen als Texte oder Texte als Handlungen zu erkldaren? Th.
Luckmanns Antwort auf diese Frage ist eher skeptisch. Beide Erkldrungsversuche stofen aut
das Bedenken, daf8 sich klar gezogene Grenzen verwischen, wenn eine solche Bezugsentzug
versucht wird. So berechtigt Luckmanns Warnung wvor einer allzu unvermittelten
Zuriickfithrung von Handlung auf Text, von Text auf Handlung ist, so scheint einem seine
Argumentation doch den Erkenntnisgewinn einer solchen Bezugnahme nicht schon von
vornherein in Frage stellen zu kénnen. Der Text als die differenzentierteste und komplexeste
Form der Handlung kann Einsichten in das Phdnomen Handlung gewidhren, die bei
elementareren Formen des Handelns sehr viel schwerer zu gewinnen sind. Umgekehrt kénnen
auf der elementareren Ebene des Handelns Strukturen sichtbar werden, die bei der
symbolischen Handlungsstruktur des Textes verdeckt sind und sich der ununittelbaren Einsicht
entziehen. So wenig also eine dogmatische und undifferenzierte Bezugsentzug von Text und
Handlung ihrer jeweiligen Erkenntnis forderlich ist, so darf von einer differenzierteren
Betrachtung des Verhiltnisses von Text und Handlung ein Gewinn an Einsicht erwartet
werden, der nur durch diese Bezugsentzug moglich wird.

Sub questions

Question Number : 146 Question Id : 5330727775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Woraut deutet das Wort ,,gewinnen” in dem Satz , die bei elementareren Formen des
Handelns sehr viel schwerer zu gewinnen sind”?

8 erkliren
2. verstehen
D interpretieren
4, anwenden
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 5330727776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Nach dem Autor, meint Thomas Luckmann, folgendes zum Verhiltnis Text-Handlung,

1. Texte und Handlungen sind getrennte Einheiten.
2. Texte und Handlungen sind erginzende Einheiten.
3. Texte und Handlungen bestimmen ihre Wahrnehmung,.
4. Texte und Handlungen geben Antworten auf ihre jeweiligen Merkmale.
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Nach dem Autor ist der Einblick in die Handlung erst dann plausibel, wenn...

1 Texte unabhingig von Handlungen analysiert werden.
2. Texte als Teil von Handlungen analysiert werden.
3. die Grenzen zwischen Texten und Handlungen nicht verhanden sind.
4. die Handlungen die Entstehung von Texten bestimmen
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Im Text kommt das Wort,,Bezugsentzug” zweimal vor. Was wird damit wohl assoziiert?

1. Verbindungen zwischen Texten und Handlungen.
2. Fehlender Bezug zwischen Texten und Handlungen.
3. Einheitliche Bedeutugen zwischen Texten und Handlungen.
4. Erginzende Bedeutungsmerkmale zwischen Texten und Handlungen.
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330727779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was ist, nach dem Autor, der wichtigste Faktor, Texte und Handlungen zu verstehen?

1. Die Bedeutungsmerkmale
2. Die Interpretationsstrategien
3. Der Inhalt
4. Die Machart von Texten und Handlungen
Options :
1.1
2.2
3.3
4.4

Question Id : 5330727774 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Lesen Sie den Text und beantworten Sie die folgenden Fragen!

Wie sinnvoll ist es, Handlungen als Texte oder Texte als Handlungen zu erkliren? Th.
Luckmanns Antwort auf diese Frage ist eher skeptisch. Beide Erkldrungsversuche stofen aut
das Bedenken, daf8 sich klar gezogene Grenzen verwischen, wenn eine solche Bezugsentzug
versucht wird. So berechtigt Luckmanns Warnung wvor einer allzu unvermittelten
Zuriickfithrung von Handlung auf Text, von Text auf Handlung ist, so scheint einem seine
Argumentation doch den Erkenntnisgewinn einer solchen Bezugnahme nicht schon von
vornherein in Frage stellen zu kénnen. Der Text als die differenzentierteste und komplexeste
Form der Handlung kann Einsichten in das Phdnomen Handlung gewidhren, die bei
elementareren Formen des Handelns sehr viel schwerer zu gewinnen sind. Umgekehrt kénnen
auf der elementareren Ebene des Handelns Strukturen sichtbar werden, die bei der
symbolischen Handlungsstruktur des Textes verdeckt sind und sich der ununittelbaren Einsicht
entziehen. So wenig also eine dogmatische und undifferenzierte Bezugsentzug von Text und
Handlung ihrer jeweiligen Erkenntnis forderlich ist, so darf von einer differenzierteren
Betrachtung des Verhiltnisses von Text und Handlung ein Gewinn an Einsicht erwartet
werden, der nur durch diese Bezugsentzug moglich wird.

Sub questions

Question Number : 146 Question Id : 5330727775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Woraut deutet das Wort ,,gewinnen™ in dem Satz , die bei elementareren Formen des
Handelns sehr viel schwerer zu gewinnen sind”?

8 erkliren
2. verstehen
D interpretieren
4, anwenden
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 5330727776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Nach dem Autor, meint Thomas Luckmann, folgendes zum Verhiltnis Text-Handlung,

1. Texte und Handlungen sind getrennte Einheiten.
2. Texte und Handlungen sind erginzende Einheiten.
3. Texte und Handlungen bestimmen ihre Wahrnehmung,.
4. Texte und Handlungen geben Antworten auf ihre jeweiligen Merkmale.
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Nach dem Autor ist der Einblick in die Handlung erst dann plausibel, wenn...

1. Texte unabhingig von Handlungen analysiert werden.
2. Texte als Teil von Handlungen analysiert werden.
3. die Grenzen zwischen Texten und Handlungen nicht verhanden sind.
4. die Handlungen die Entstehung von Texten bestimmen
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Im Text kommt das Wort,,Bezugsentzug” zweimal vor. Was wird damit wohl assoziiert?

1. Verbindungen zwischen Texten und Handlungen.
2. Fehlender Bezug zwischen Texten und Handlungen.
3. Einheitliche Bedeutugen zwischen Texten und Handlungen.
4. Erginzende Bedeutungsmerkmale zwischen Texten und Handlungen.
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330727779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Was ist, nach dem Autor, der wichtigste Faktor, Texte und Handlungen zu verstehen?

1. Die Bedeutungsmerkmale
2. Die Interpretationsstrategien
3. Der Inhalt
4. Die Machart von Texten und Handlungen
Options :
1.1
2.2
3.3
4.4
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